
Examination: M.A. Sanskrit
Section 1 - Section 1
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Find the odd one out? 
 Thrive
 Blossom
 Flourish
 Renovate
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People in the age group of 40 to 50 years are more likely to purchase ice cream and are more likely
to purchase it in large amounts than are members of any other age group. The general perception that
teenagers eat more ice cream than adults must, therefore, be incorrect.

The argument is flawed primarily because the author
 does not specify the precise amount of ice cream purchased by any demographic group
 fails to distinguish between purchasing and consuming
 discusses ice cream rather than more nutritious and healthful foods
 depends on popular belief rather than on documented research findings
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We’re late again for the test, _______?
 aren’t we?
 isn’t it?
 is it?
 are we?
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Choose the synonym of the italicized word. Many cities were incinerated during the war.
 attacked
 destroyed
 bombed
 burnt
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In the following question, the first two words (given in italics) have a definite relationship. Choose
one word out of the given four alternatives which will fill the blank space and show the same
relationship with the third word as between the first two.

Hear is to Deafas as Speak is to ………?………….

 Silent
 Dumb
 Talkative
 Listen
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Statement: The Company has recently announced a series of incentives to the employees who are
punctual and sincere. 
Assumptions: 
I.Those who are punctual will get motivated. 
II. The Productivity of the company may increase.
 If both I and II are implicit
 If only assumption II is implicit
 If only assumption I is implicit
 If neither I nor II is implicit
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Study the following information carefully and answer the question below it

The Director of an MBA college has decided that six guest lectures on the topics of Motivation,
Decision Making, Quality Circle, Assessment Centre, Leadership and Group Discussion are to be
organised on each day from Monday to Sunday. 
(i) One day there will be no lecture (Saturday is not that day), just before that day Group Discussion
will be organised.
(ii) Motivation should be organised immediately after Assessment Centre.
(iii) Quality Circle should be organised on Wednesday and should not be followed by Group
Discussion
(iv) Decision Making should be organised on Friday and there should be a gap of two days between
Leadership and Group Discussion

On which day the lecture on Leadership will be organised?
 Thursday
 Saturday
 Tuesday
 Monday
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We must always try to adapt ourselves _________ our circumstances.
 with
 by
 in
 to
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This pup is very naughty. It is always _____some mischief or the other.
 up to
 out for
 in for
 up at
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Find the odd one out? 
 Fish : Pisiculture
 Bees : Apiculture
 Silkworm: Serculture
 Birds : Horticulture
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Exhausted: Tired
 Depressed : Sad
 Considerate: Rude
 Progressive: Regressive
 Arrogant: Docile
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Select the Pair that best respresents the relationship that is given in the question: 
Slapstick:Laughter
 Horror:Fear
 Satire: Sarcasm
 Clown: Comical
 Mimicry:Laughter
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I don’t care if she comes to my house or not.
The underlined word is a
 verb
 gerund
 conjunction
 pronoun
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Correct the error in the italicized part of the sentence by choosing the most appropriate option. 
Leaving aside little room for misinterpretation, the senior politician offered clarifications about his role
in the party elections.
 Having left less room for
 Leaving little room for 
 Leaving less room for
 Leaving for little room to
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A man makes 150 pots per minute. If 30 pots are packed in a case how many cases will be made
ready by the Man in one hour?
 250
 300
 1000
 200
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Study the following information carefully and answer the question below it:

P, Q, R, S T went on a picnic. P is son of Q but Q is not the father of P. R is the son of S, who is the
brother of P. T is the wife of S.

How is P related to S?
 Brother
 Father
 Nephew
 None of these
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Choose the best antonym of the italicized word.
There has always been a feeling of rancour between the two families.
 suspicion 
 rivalry
 competition
 friendliness
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If Road is coded as WTFI, what is the code for BEAT
 HIGZ
 GJFY
 ABCD
 DEFG
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When the bus was at full speed, its brakes failed and an accident was _______
 essential
 infallible
 inevitable
 undeniable
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Statement: Warning: Cigarette smoking is injurious to Health
Assumptions: 
I. Non-Smoking Promotes Health 
II. This warning is not necessary
 If both I and II are implicit
 If only assumption II is implicit
 If only assumption I is implicit
 If neither I nor II is implicit
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